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10.

AnsWer ALL questions.
PART A — (10 x 2 = 20 marks)
State Kirchoff’s law.

Two resistors 4 ohms and 6 ohms are connected in pzirallel.lf the total current
is 12 A, find the current through each resistor. ;

What is meant by selectivity of a resonant circuit?
Define transient response and steady state response.
Define transition capacitance Cr of a PN junction diode.

What is meant by potential barrier across a PN junction? What is its
significance?

What is meant by base width modulation?

When the reverse gate voltage of JFET changes from 4.0 to 3.9 V, the drain
current changes from 1.3 to 1.6 mA. Find the value of transconductance.

What is tunneling?

Deﬁné Photovoltaic Effect.
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11. (a) () State and explain the principle of superposition theorem. (4)

(i) Find the voltage across the 2Q resistor in the figure given below

by using superposition theorem. (12)

‘ 20 >
10v' A
120V
Or
(b)» (i) Find the power dissipated in the 6 Q resistor for the circuit shown
in figure below using nodal analysis. (10)
v

(i) Obtain the star connected equivalent for the delta connected circuit

shown below. i
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[image: image3.jpg]12. (@) () For the circuit shown below find the expression for the resonant
frequency : 8

(i) A series RLC circuit consist of a 50 Q resistance, 0.2 H inductance
and 10pF capacitor with an applied voltage of 20 V. Determine the
resonant frequency. Find the Q factor of the circuit. Compute the
lower and upper frequency limits and also find the bandwidth of the
circuit. (8)

Or

() The circuit shown below consisting of series RLC elements with
R =10 Q, L =05 H and C = 200uF has a sinusoidal voltage
V = 150 sin (200t + ¢). If the switch is closed when ¢ = 30°, determine the
current equation. (16)

150sin(200t - - 0.5H
o '(t) ' 2004F

13. (a) () Explain the operation of PN junction diode under forward and
reverse biased condition. (10)

(ii) Distinguish between Avalanche and Zener mechanism. ‘ (6)
Or

(b). (i) With neat energy band diagram, explain the working of PN junction
diode. (10

(i) Draw the V-I characteristics of zener diode and explain its
operation. (6)
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15.

(a)

(b)

(a)

(b)

With necessary diagrams explain the operation of depletion type
MOSFET in detail. (16)

Or

Draw the circuit of a transistor in comimon emitter configuration. Sketch
the CE input and output characteristics and explain the shape of these

characteristics. _ (16)

Explain the energy band diagram,V-I characteristics, equivalent circuit

and applications of the tunnel diode. (16)
| . e

@) Eiplain the two transistor analogy of an SCR. (8)

(i) Describe the principle of operation of an LCD. (8
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